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1 %100 ¢m . 3m25 3 x 100 cm + 25 cm
—ID0 cm | = 325 em
12m=12 x [0 ¢m 5 6m40cm=6x [06cm+ 4% cm
1200 ¢m =_640 cm
3.32m=32_ x [00 ¢m 6. 2m7em=/2 x100cm+ 7 _cm
=3100 c¢m . =1207 cm




FISFD .. a1 W T
Fill in the blanks.

. 500 cm 3. 405 cm
500100 Q=_5 _R=_0_ 405 cm = 400 cm + 5 cm
500 cm = _5_ | =_ 4 m+5 __cm
. 1400 cm 4. 1758 cm
| 1700 cm + 32 cm

1400 - 100 Q=1 R=0__ 1758 cm
1400 cm=_14 m |

17T m+ 3£ cm




. Fill in the blanks.
. S5km=35x [000m= f000m

, 3km255m=_3  x1000m + 255 m=3000m + 255 m=

298 m

A. Fill in the blanks.
. 3000 m = 3000+ 10060 =_3 km

2 6457 m=6000m+ Y T m=6 km 457 m

AW
1

» -



2. 7kg 250 g
=_7 x1000g+2£0,

A. Fill in the blanks.

1. 9000 g =9.800-+ 1000 |



A. Fill in the blanks.
L 6L
=6 % 1000 mL
= 6000 mL,

A. Fill in the blanks.
1. 2000 mL =2060 = 1000

2

I 2.5 L 7350 ml: .
= 5 x 1000 mL +. 750 mL
=<000mL + 750 mL =570 mL

> 7148 mL = 7000 mL + '4YZ mL
= 1 LI1%Y¥mL




WORKSHEET @B

MEASURTMENT

. Tick (V) the correet answ ers.

—_—

- To change km into m, multiply by

s 10, D b. 100. D . 1000, [v 4

- The suitable unit for measuring the w

L

cight of a pumpkin is

a. kg. @/ b L D ¢. mL. j

32kg=
1 200 g l: b.2000g [\ b c20¢
4. Small quantities of liquid are measured in

a, millilitres. lg/ b. metres. ¢. litres.

B. Convert,.

1.915 ¢m into m and cm

b=

. 4 km 375 m into m

3.8746 m into km and cm . 8kg 780 g into g

. 5 L 287 mL into mL

5.6285 g into kg and g

-

C. Solve,

1. km m 2.

123 206

+ 258 123 =
1% 329 724 L

q Qo




WORKSHEET €

MEASUREMEN

ALTiek (V) the correet answers.

L.

[ 2
M

B.

To convert g into kg, divide by

a. 10, lj

—d

-

J =

5 kg 308

U

a. 5308 g [E/
6208 mL =

a. 6 kg 208 g D
Convert.

5395 g into kg and g

3.35 m 46 cm into m
C. Solve.
1. L i
g 0Ob
7 383
25 4176
+126 128
58 9937

h. 100.

D c. 1000.

h. 5308 mL c. 5308 kg

[ |

b. 6 L 208 mL [\~ ¢ 6 m 208 cm D

2. 9 L 253 mL into mL

4. 8649 m into km and m

2. km m 3 ke B
clgg Py 3 1. 12¢ 13
7848 45F 783 28 %

- 698 279 - 275 847
290 419

SO0T bLyé






